Diethard Thieme
Skripte zur Baumechanik
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Dreigelenkrahmen
mit Zugband (S4)
als Gemischtsystem
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Punkt "c"
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12 kN/m
or g o 00

- 7,08 38,75

Punkt "c" 20 27,08 |-18,75
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S1=52=69,3
S3=34=30
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S1=52=20,8
S3=-93,2
S4=-859
S5=-83,3
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18 kN/m
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Stab | 1 2 3 4 5 6
V. 1129 |-96,4 |-96,4 |-85,1|-85,1 25,8
D |-198 |0 0 -19,8 |10 19,8
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S1=-364 S4=339 S7=-112 S10=-436 S13=-46,5
S2=-364 S5=-112 S8=194 S11=4733
S3=0 S6 = - 32 S9=11,7 S12=727
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kN 20 kN
30 Auf dem geknickten

Trager sitzt ein
Dreigelenkrahmen aus
zwei Fachwerkscheiben

01=-15
02=0
V1=0
V2=-20

D1=-323
D2=-48,5
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S1=0
S2=-37
S3=34=37,8
S5=442
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S1=0
S2=83=91,7
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S5—-108 S9 =- 54
S6=-243 S10=974
S7=-18  S11=-90
S8=324  S12=162,2
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01=30
02 =120
D1=-31,6

D2 =-126,5
U =-60
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S1=-0,33 S8=-57,2

S2 =34 SRR

S3 =34 510 =16

S4 =34 S11=-17,8

S5=23,3 512 =30,2
S13=-38,9
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20 kN 40 kN 60 kN

36,7
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S6 = 26,6
S7T=-26
S8=-10
S9=-333
510 = 26,6

19,4 60,6
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